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sin & —cos @
Determine the eigen value and corresponding eigen vectors of the matrix
[ cos @ sin 6 ]
A =
Lsin 6 - cos HJ
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Find the characteristics equation of the matrix A = I -1 2 -1 I and verify that it is
|1 -1 2
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satisfied by A and hence obtain A "
U3 o gend IEeR Bl gl P X —10 X° + 26 X° —10 +1=0

Solve the following reciprocal equation: x* —10 x*> + 26 x> =10 +1 =0
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(@) ~(pra)e (~p)v(~a) (b) ~(pra)e (- p)a(~q)
If p and g are two statements, then the following are tautologies
(@) ~(pra)e (~p)v(~a) (b) ~(pra)e (- p)a(~q)

w.5 afg cos (6 +ig)= R(cos a + isin a),r—ﬁ%gqﬁﬁqﬁ;:_¢:£|og sin (6 - a )
2 sin(0+a)

: . 1 sin (6 — )
If cos (0 +i¢)= R(cos a + isin « )then prove that ¢ = —log ————
2 sin (6 +a)



